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2. Answer the following questions : 2x5=10
weTo fil ey Se fr

fa) Write the difference between diagonal
matrix and identity (or unit) matrix.,
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{b) IfA={0,12 3} and B={10,11, 12}, then
find An B and show it by means of a
Venn diagram.
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fc) Define ‘domain’ and ‘range’ of a
function.
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then can you find B - A? Justify your
answer.
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3. Answer any four of the following questions :
5x4=20
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(a) Test whether the following matrix is
singular or non-singular :
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(b) Distinguish between equation and
identity by giving examples.
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5+5=10 Or / F31!
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